
BUSINESS MATHEMATIC 

PRACTICE QUESTIONS 

1 

2 

3. 

4. 

5. 

6. 

7. 

8. 

9. 

log 6 + log 5 is expressed as 
(a) 
(c) 

(a) 
log, 8 is equal to 

(a) 

(c) 3 

(c) 

log32/4 is equal to 

log(1 
(a) 
(c) 

(a) 
(c) 

(a) 
(c) 

log 

(a) 
(c)) 

The value of log 0.0001 to the base 0.1 is 

(a) 
(c) 

log 11 

\og 25 

log 5/6 

wN 

If 2 log x=4 1og 3,the x is equal to 

(c) 

(a) 
(c) 

log 32/log 4 
2 

x2x3) ise qual to 

(a) 

log 1 + log 2 + log 3 
log 2 

(c) 

-4 

1/4 

3 

2 

64 is equal to 
12 
1 

log (1/81) to the base 9 is equal to 
(a) 2 

1728 is equal to 

2 V3 
6 

CHAPTER - 1 - LOGARITHM 

10. log 0.0625 to the base 2 is equal to 

-2 

4 

1 

(a) 0.9030 
(c) 0.7781 

12. The value of log, log, log, 16 is 

1 

(b) 
(d) 

(b) 
(d) 

(b) 
(d) 

(b) 
(d) 

(b) 
(d) 

(b) 
(d) 

(b) 
(d) 

(b) 
(d) 

(b) 
(d) 

(b) 
(d) 

(b) 
(d) 

(b) 

log 30 

(d) 

none of these 

none of these 

log 32 - log 4 
none of these 

log 3 
none of these 

4 

none of these 

11. Given log2 = 0.3010 and log3 = 0.4771 the value of log 6 is 

none of these 

6 
none of these 

2 

none of these 

none of these 

5 
-4 

0.9542 

none of these 

2 

none of these 

MEC 
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14. 

15. 

13. 

19. 

20. 

21. 

The value of log 0.5 to the base 9 is 

-1/2 

22. 

(a) 
(c) 

(a) X-1 

If logx + log y = log (xty), y can be expressed as 

(c) 

(c) 

The value of log, [log, {log: ( log, 27)} ]is equal to 
(a) 1 

16. If log,x + logax + logis X = 21/4, these x is equal to 
(a) 8 

(c) 16 

(a) X-y+1 
(c) X-y-1 

(a) X+2y-1 
(c) 2x+y-1 

(a) 
(c) 

(a) 
(c) 

17. Given that logo 2 = x and log 103= y, the value of log1o 60 is expressed as 

(a) 

0 

(c) 

(a) 

log [1-{1- (1 - xy '} '2 can be written as 
log x? 

(c) 

1-m+3n 

(c) 

18. Given that log10 2= x, log1o 3= y, then log1o 1.2 is expressed in terms of x and y as 

m+3n+1 

(a) 

2 

The simplified value of log 729 9-.27"3 

(b) 
(d) 

log 1/x 

(b) 

log3 
log1/x 

(d) 

3 

1 

(b) 
(d) 

Given that log x = m +n and log y = m - n, the value of log lOx/y is expressed in terms of 

m and n as 

(b) 
(d) 

is 

(b) 
(d) 

(b) 
(d) 

The simplified value of 2 log1o 5+ logio 8- V½ log10 4 is 

(b) 
(d) 

(b) 
(d) 

(b) 
(d) 

23. The value of (log a x log b x log, c) is equal to 

(b) 
(d) 

1/2 
none of theSe 

none of these 

(b) 

2 

(d) 

none of these 

4 
none of these 

X+y+1 
none of these 

X+y-1 
none of these 

m-1+3n 

none of these 

4 
none of these 

log x 
none of these 

log 2 
none of these 

MIITAL COMME9CiLASSES 
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24. 

25. 

26. 

27. 

28. 

29. 

30. 

31. 

32. 

35. 

The logarithm of 64 to the base 2,2 is 

(a) 
(c) 1/2 

The value of logs25 given log 2 = 0.3010 is 
(a) 
(c) 

(a) 
(c) 

(a) 

(c) 

Find the logarithmic of 58,564 to the base 11/2 

(a) 6 

(a) 

If 10-2= 0.01, then the value of log,o 0.01 is 
(a) -2 
(c) -1 

The value of 

(a) 0 
(c) -1 

(c) 3 

(a) 

(c) 

The base of log613 into the common logarithmic base is 

(c) 

(c) 

3 

2 

(c) 24 

2 

logs 128 is equal to 

(a) 

1 
1.5482 

1 

log6 10 

log, log 27 is equal to 

2 

log1o 13 
log, 13 

1 

(a) 3 

logio6 

(c) 1 

If log.a (X + 1) = 2 then x is equal to 

1 

33. The value of log, log, 81 is equal to 

loga (ab) 

34. log6a 512 is equal to 

1 

log, (ab) 

(b) 

The value of log (1 + 2 + 3 + 
(a) log 1+ log 2 + ... + log n 

(d) 

(b) 
(d) 

(b) 
(d) 

(b) 

(d) 

(b) 
(d) 

(b) 
(d) 

(b) 
(d) 

(b) 
(d) 

(b) 
(d) 

(b) 
(d) 

(b) 
(d) 

v2 

(b) 

4 

(d) 

2 
none of these 

4 

None of these 

log10 6 
log1o 13 

None of these. 

2 

1 

1 

None of these. 

12 

14 

-1 

1 

3 

None of these 

2 

+n) is equal to 

3/2 

log n + log (n+1) - log 2 
1 

MiTTA CMESEASSE 
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36. 

37. 

38. 

39. 

40. 

41, 

42. 

43. 

44. 

45. 

46. 

log (1 + 2' + 3) Is 
(a) 
(c) 

log (3 
(a) 
(c) 

(a) 
(c) 

The value of log 

(a) 
(c) 

(a) 

(c) 

The value of log, 

(a) 
(c) 

(a) 

equal to 
log 1' t log 2' + log 3 
log 2 - log 7 

2(log 3 + log 5 + log 7) 

(c) 

2(log 3 - log 5 - log 7) 

-1 

(a) 

The value of logz2 256 

(c) 

4 

2 

(a) 
(c) 

16 

(c) 10º 

3 

3 

5 7)' is equal to 

16 

The value of log, VA 

The value of 

If log, [ log, (log, x) ] = 0; then value of x is 

1 

3 
2 

The value of log, (0.00001) = -5, then x is 
(a) 10 

a 

log, A 

bc 

a log, () 

5.6738 

(a) 8 
(c) 2 

6.6738 

1 

81 

log164 

log 

log8 

1 

b 

Ca 
+ log 

2 
ab 

15 

(b) 
(d) 

(b) 

is equal to 

(d) 

(b) 
(d) 

(b) 
(d) 

(b) 

(d) 

(b) 
(d) 

(b) 
(d) 

(b) 

(d) 

(b) 

(d) 

(b) 
(d) 

log 2 + log 7 

(b) 

None f these 

(d) 

log (23x5x7) 
None of these 

1 

None of these 

-4 

-2 

-4 

-16 

3 

32 

None of these 

10 

If log,o 12.45 = 1.0952 and logo 3.79 = 0.5786, Find the value of logo 124.5 + lo910 

None of these 

a logi/n A 
None of these 

4 

3 

If log, x + logu x + log,2 X = then the value of x is 

None of these 

4.6738 
None of these 

5 

ME 

None of these 
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47. 

48. 

49. 

50. 

51. 

52. 

53. 

If log 

(a) 
(c) 

(a) 
(c) 

log og"= kogo log" then x is 

(a) 
(c) 

(a) 
(c) 

(a) 
(c) 

(a) 

If log 2 = 0.301 and log 3 = 0.477, then the value of log 225 is: 

(c) 

2ab 
6ab 

If log x V3 = find the value of x 

(a) 

7 

(c) 

2 

Jf log 2= 0.3010, find the number of digits in 2100 

(a) 

2.352 

The value of aloga* is 

7.452 

(c) x? 

(c) 

36 
38 

The value of 32-lo9: 6 is 

(a) 9/5 

(a) 

18 

(h) 

X 

9/4 

= - (log a + log b), the value of u' + b² is 

t 

55. If log 10000 X=- then X is given by: 

()0 

(a+b+c+d+t) 

100 

20 

(d) None of these 

56. If log (2a - 3b)=log a - log b then a: 

2h-1 

-1 

(b) 

2h-1 

(d) 

(b) 
(d) 

(d) 

(b) 

(b) 3.452 

(d) 

(b) 
(d) 

(b) 

54. The value of the expression: '°g, h log, c log, d log, r 

(d) 

(b) 

8ab 

(d) 

None of these 

(b) 

8 

(d) 

None of these 

None of these 

31 
None of these 

27 

(c) 

None of these 

log ax 
None of these 

(d) 

3/2 
None of these 

abcdt 

None 

2h+1 

352 

2h +1 

MCC 
MiTAL cOMMERCE CAsSE 

Feb. 2007 

Feb. 2007 

May 2007 
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59 

5S. 

62. 

65. 

66. 

(3) 

(c) 

(a) 
(c) 

kg) k'g (o) hog, lah)S equal to: 

(a) 

Number of diqits in the numeral for 2 (Given log2= 0. 3010) 

The value 

(c) 

(a) 

60. If log x = a +b; log y = a-b then log 

(a) 
(c) 

61. log144 is equal to : 

(c) 

(c) a+3b+1 

(a) 
(c) 

(a) 

(c) 

(c) 

(c) 

(a) 

18 digits 

If log: [log: (log: x)]= 1 then x equals: 
(a) 128 

(a) 

20 digits 

3log:02 
3log.2 

1-a+3b 

(c) 1 

2log4 +2log2 
3log2+4log3 

512 

log l6. log, l0 s : 

63. If log=! (log a + log b) then the value of 

12 
16 

m = 

-1 

m = 

16 
log. (x tx)-log. (x+1) = 2. Find x. 

log, N 

n-1 
n+1 

b=c 
67. If log.b + log, c=0 then 

(b) 

(d) -1 

b = c = 1 

(b) 

(d) 

(b) 
(d) 

64. log (m + n) = log m + log n, m can be expressed as: 

(b) 
(d) 

(b) 
(d) 

(b) 
(d) 

Find the value of [log10 25- log10 (2') + log1o (4)]" (a) 

(b) 

(d) 

(b) 
(d) 

1 

(b) 
(d) 

(b) 

19 digits 

(b) 14 

(d) 

(d) 

21 digits 

7log103 
None 

a-1+3b 

1-b+3a 

4log2+2log3 
3log2-4|log3 

256 
None 

m= 

m= 

None of these 

10 

In+1 

None 

b= -c 
b and C are reciprocals 

ME 

Aug. 2007 

Aug. 2007 

Nov. 2007 

Feb. 2008 

June 2008 

June 2008 

June 2009 

June 2009 

June 2009 

June 2010 
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68. 

69. 

The Value of 

73. 

2 log x + 2 log x' + 2 log x* + ---------+2 log x" will be: 

74. 

(a) 

(c) 

(a) 

77. 

(c) 

log: 
(a) 
(c) 

(a) 
(c) 

(a) 
(c) 

20 If n = m! where (m' is a positive integer > 2) then the value of: 

(a) 

71. log+ log, = 6 then x = 

(c) 

(c) 

n(2+|) log x 

n log X 

10! 

+ 

10 

1 

(a) 
(c) 

og: 

-1 

(a) 
(c) 

16 

Which is True if 

64 

(72. )If log, y =100 and log, x =10 then the value of y 
210 

21000 

(a) 5 

(a) 16 

(c) 

||-og 

log (abc) = 0 

1 

log 

log (ab+tbc+ca) = abc 

75. If (log -2)' =log, 2 then x = 

+ 

1 

2Then x= 

NW 

76. Find value of [log, log..log, = 

3 

1 
ab bc ca 

2 

log m 

Find the value of Log49.Log32 is 

1 
abc 

If log5+ log (5x + 1) = log,(x +5) +1, Then x = 

(b) 

(d) 

(b) 
(d) 

(b) 
(d) 

(b) 
(d) 

(b) 
(d) 

(b) 

(d) 

(b) 
(d) 

(b) 
(d) 

(b) 
(d) 

(b) 

n (n+1) log x 

(d) 

None of these 

10 
10 

2 

32 
128 

100 

210000 

log 

log (a+b+c) = 0 

3 

None 

32 
4 

-1 

3 

(1,1,1 

9 
1 

a b 
= abc 

MITTAL cOMMERrE CLASSES 

Dec. 2010 

Dec. 2010 

June 2011 

Dec. 2011 

June 2012 

Dec. 2012 
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78. 

80. 

81. 

79. The value of logs3 x log4 x log25. 

82. 

83. 

84. 

85. 

86. 

XF1+ log qr, y=1+iog, rp, z=1+log. pq then find 

87. 

(a) 
(c) -1 

(a) 
(c) 

(a) 210 
(c) 21000 

If logo+log 
(a) 5 
(c) 1 

Which is true if 

If logx y= 100 and log, X= 10 then the value of y 

(c) log (abc) = 0 

(a) 16 

(a) log (ab + bc+ca) = abc 

(c) 8 

(Sr) = log+l then x = 

(logr 2) = log, 2 then x = 

(a) o 
(c) 1 

(a) 3 

1 

ah bc 

Find value of log," log," log, 

(c) 2 

Find the value of Log,9. Log3 2 = 

(a) log x + log y 

4 

if x2 + y' = 7xy then log 

(a) 2xy 
(c) 2yz 

(c) (logx + log y) 

CU 

(b) 

() 

(d) 

(b) 
(d) 

1 

1 

3 

1 

1/2 

b) 

Ifx = logz4 12: y = logss 24; z = logt8 36 then xyz +1 =? 

d) 

(b) 
(d) 

(b) 

(d) 

(b) 
(d) 

b) 
d) 

(b) 
(d) 

(b) 

(d) 

(b) 
(d) 

2100 
210,000 

3 

2 

3 
none of these 

lo 

32 

log (a + b+ c) = 0 

4 

1 

2 

2zx 

June - 2012 

-(logx+ log y) 

-(log x log y) 

4E1As COM SSts 

Dec. - 12 

abe 

Dec. 12 

June - 13 

Dec. -13, May -18 

Dec.- 13 

June-14 

June- 14 
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88. 

89. 

90. 

91. 

92. 

93. 

94. 

95. 

96. 

97. 

98. 

If log x =a+b; log y=a-b then log 

(a) 1-a + 3b 
(c) a+3b+1 

X=1+logp q. y = 1+log, rp, z = 1+log, pq then find 

(a) o 
(c) 2 

If log x = m + n, log y = m-n the log 

(a) 1-m +3 n 
(C) m +3 n + 1 

log,'x log,'x log, 
(a) 2 
(c) -2 

If log, (x2 +x)-log 4(x+1)=2 then the value ofx is : 
(a) 2 
(c) 16 

The value of 

(a) 0 
(c) 5 

The integral part of a logarithm is called 
called 

(a) Mantissa, Characteristic 

(c) Whole, Decimal 

(a) 1.3081 
(c) 1.3801 

log(1'+ 2 +3' + 

log, 60 log, 60 log, 60 

(a) 2 log n + 2 log (n+1) -2 log 2 
(c) 2 log n + log (n + 1) -2 log 2 

(a) 4 
If log,[log, (log; )] = 0 then X= 

(c) 16 

If log 

(a) 
(c) 

6 xy 

+n') 

3x?y' 

then x2 + y² = 

(b) 2 xy 
(d) 

(b) 
(d) 

32 

(b) 
(d) 

(b) 
(d) 

(b) 
(d) 

(b) 
(d) 

Given log 2 = 0.3010 and log 3 = 0.4771 than the value of log 24: 

(b) 
(d) 

(b) 
(d) 

a-1+3b 

1-b+3a 

(b) 
(d) 

1 

(b) 
(d) 60 

(b) 

-1 

(d) 

None of these 

5 

m -1+3 n 

None of these 

3 

1 

June - 16 

and the decimal part of a logarithm is 

None of these 

1.1038 

1.8301 

MEI 
MITTAL (OMMERCE CLASSES 

8 

Dec. - 14 

Characteristic, Mantissa 

32 

Dec. - 14 

June -15 

Dec. - 15 

June -16 

June - 16 

log n+2 1log(n+ 1) -2 log 2 
None of these 

Dec. -16 

June - 17 

Dec. - 17 

Dec. - 17 
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99. 

102. 

101, 

(103, 

104. 

105. 

106. 

107. 

108. 

109. 

The value of the expression 

(a) t 
(c) (a+b+c+d+t) 

If log,(V2) 
a) 

c) 

a) 
c) 

Find the logarithm of 

a) 
c) 

2 

16 

2 

(a) 0 

-3 

logz log2 logz 16 =? 

(c) 1 

a) 128:81 
c) 3 :2 

(a) 2 

(c) 

log,;(512): log,s 324 = 

(c) 5 

b 

(c) 

log,(1)* log.() 

If a=log,, 12;h= log, 24;C= log,aN 36;then (1+ abc) -2bc = 

(a) 1 
logo.o1 (10,000) = x; Find the value of x? 

then x= 

(a) 81 

(c) 27 

- 4 

64 
to the base 4 is : 

X-1 

(a) log (9/5) 

(c) log (5/9) 

log 9 + log 5 is expressed as 

If log.(V3) - find the value of 'a' 

(b) 
(d) 

+ logs 

b) 
d) 

b) 
d) 

1+ 

(b) 

abcdt 

None 

(d) 

(b) 

8 

(d) 

32 

logxy²- logy = log (x+y) Find the value of y in term of x 
(a) X-1 

-2 
3 

(b) 
(d) 

624 

b) 
d) 

(b) 
(d) 

(b) 
(d) 

(b) 
(d) 

b) 

9 

d) 

3 

log 4 

2 

2:3 

None 

3 

2 

X+1 

log 45 

2 

a 

MITTAL COMMEpc 

May -18 

June - 18 

Dec. - 18 

Dec. 18 

Dec. 18 

June 19 

June 19 

Nov. 19 

Nov. 19 

Dec. 20 

Dec. 20 
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110. 

111. 

112. 

1. 

(B) 
11. 

(C) 
21. 

(B) 
31. 

(D) 
41. 

(D) 
51. 

(B) 
61. 

113.) Find the value of log (x°) if log(x) + 2 log(x') + 3 log(x') = 14. 
(a) 

(B) 
71. 

(A) 
81. 

(B) 
91. 

(A) 

If log, (ab) = x, then log, (ab) is -
(a) 1/x 

(C) 

(c) 

(C) 

(c) 16 

If logs x + log16 X + logos x+ logzs6 x = 25/6 then the value of x is 
(a) 64 

(c) 

101. 

111. 

If log1o 3 = Xand log1o 4 = y, then the value of logo 120 can be expressed as 
(a) X- y + 1 

(c) 

X + y - 1 

3 m 

5 

2. 

(C) 
12. 

(C) 
22. 

(A) 
32. 

(C) 
42. 

(A) 
52. 

(A) 
62. 

(C) 
72. 

(C) 
82. 

(D) 
92. 

(C) 
102. 

(A) 
112. 

(B) 

3. 
(B) 
13. 

(A) 
23. 

(C) 
33. 

(A) 
43. 

(A) 
53. 

(B) 
63. 

(B) 
73. 

(D) 
83. 

(A) 
93. 

(B) 
103. 

(C) 
113. 

(D) 

4. 

(A) 
14. 

(C) 
24. 

(D) 
34. 

(D) 
44. 

(C) 
54. 

(A) 
64. 

(A) 
74. 

(B) 
84. 

(C) 
94. 

(B) 
104. 

(C) 

5. 

(B) 

ANSWER SHEET 

15. 

(C) 
25. 

(C) 
35. 

(B) 
45. 

(B) 
55. 

(B) 
65. 

(A) 
75. 

(A) 
85. 

(D) 
95. 

(©) 
105. 
(B) 

6. 

B) 
16. 

(A) 
26. 

(B) 
36. 

(B) 
46. 

(C) 
56. 

(A) 
66. 

(C) 
76. 

(C) 
86. 

(B) 
96. 

(b) 
(d) 

(A) 

(b) 

(B) 

(b) 

(d) 

(d) 

106. 

(b) 

(d) 2 

X + y t 1 
2x + y - 1 

4 

6 

7. 

(A) 
17. 

(B) 
27. 

(C) 
37. 

(A) 
47. 

(A) 
57. 

(C) 
67. 

(D) 
77. 

(D) 

None of these 

87. 

(C) 
97. 

(C) 
107. 

(C) 

8. 
(C) 
18. 

(C) 
28. 

(A) 
38. 

(A) 
48. 

(C) 
58. 

(C) 
68. 

(B) 
78. 

(B) 
88. 

(A) 
98. 

(A) 
108. 

(D) 

9. 

MITTAL cOMMERCE CLA5SES 

(C) 
19. 

(A) 
29. 

(B) 
39. 

(B) 
49. 

(A) 
59. 

(A) 
69. 

(A) 
79. 

(C) 
89. 

(B) 
99. 

(A) 
109. 

MEC 

(C) 

Jan. 21 

July. 2 1 

Dec. 2021 

Dec. 2021 

10. 
(D) 
20. 

(C) 
30. 

(D) 
40. 
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